GOVERNMENT OF WEST BENGAL
DIRECTORATE OF SCHOOL EDUCATION
CENTRALLY SPONSORED NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION, 2018

(FOR STUDENTS STUDYING IN CLASS VIII)
Mental Ability Test

Class-VIIl Code  State Code

Year Code Centre Code Serial No.

Roll No. 1

Full Marks : 90
Time: 90 minutes (10-30 AM to 12 Noon)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Before you proceed tomark in the OMR Answer-
Sheet find out the correct answer from the four alternatives
(a), (b), (c) and (d) against each question in the Question
Booklet. Darken the circle with a Black Ball Point Pen,
to the corresponding correct answer for the item in the

OMR Answer-Sheet.
@ @ O ©

Example :
(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in the
OMR Answer-Sheet

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: In each of the questions 1 to 10,
there are four items, three of which are alike by
some means or other while one is out of the class.
Find out the odd item and give the answer by
filling the circle of the letter denoting your selected
answer on the O.M.R. Answer-Sheet.

(e 1—10)

[T ¢ 1 = 10 +1® 2ol 2o b1l 303 2% =i,
e feald @t 7 @EeE asaey @3k e
el | G2 WM b = I AdS Teal® v
@ @R O.M.R. Sezsitaa a8 38 774 3@ core
Taq fFoie a0t )

1.

(a)
(b)
(©)
(d)

(a)
(b)
(c)
(d)

(a)
(b)
(©
(d)

(a)
(b)
(©
(d)

(a)
(b)
()
(d)

Monsoon (GTf a1y)
Cyclone (F1i2@=)
Tornado (5izet)
Hurricane (Zifata)

Sparrow (5%i%)
Gull (siefeer)
Crane (7159)
Duck (2%)

Howrah (2ewt)
New Delhi (W& fafa)
Shimla (fr=)
Patna (#{i5+)

171
285

319 .

209

27
81
405
243

[3]

6.

10.

(a)
(b)
(©

(d) Nose (71F)

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

(@)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

Brain (3f%%)
Ear (F9)
Eye (®1)

HFGE
USTR
WZYX
NLMK

Sphere (¢ii#T<F)
Circle (3%)
Prism (f2em)
Pyramid (f=ifiw) |

Facebook (@g%)
WhatsApp (G719l
Twitter (312519)
Microsoft (J1ZGEI5)

London (77&+)
Bangladesh (31@to)
Nepal (¢791157)
Thailand (2iZe01%)



(Questions 11—20)

DIRECTION: Read the questions carefully and
give the answer by filling the circle of the letter
denoting your selected answer on the O.M.R.
Answer-Sheet.

(et 11—20)

(et s emiefr SrEei siter, Rew Terafm Wy
@ e Tealb 4o a@ @3 O.M.R. Seasizaa
ﬁﬁ%wﬁqmm%@ﬁtﬁ@wu

11. As ‘School’ is related to ‘Student’, in the
same way ‘Hospital’ is related to

TRwieT @ -z e e confi
TAATSH 97 7 A Fw

(a) Doctor (Treta)

(b) Nurse (715)

(c) Patient (15

(d) Medicine (&%)

12. As ‘Bank’ is related to ‘Money’, in the
same way ‘Transport’ is related to

TE W @ M AR, (euw
‘oifgazrer’-aa A e

(a) Road (71%1)

(b) Goods (#rway)

(c) Traffic (W& 3t A8 Arorre)
(d) Speed (5f®)

- 13.  As ‘Illiteracy’ is related to ‘Education’, in
the same way ‘Flood’ is related to

‘Trwrer @ Frera s TETE, (ould
AT K A Fe

(a) River (71)

(b) Bridge (¢79)
() Rain (3f®)
(d) Dam (1)

[4]

14. As ‘Mosquito’ is related to *Malaria’, in
the same way ‘Rat’ is related to

TR @ AR AE g, (o
EVGIRUER e i

(a) Sting (we*w)
(b) Rabies (anfas)
(c) Death (3g7)
(d) Plague (czst)

15. As ‘Tajmahal’ is related to ‘Agra’, in the
same way ‘Victoria Memorial’ is related to

OO -G MK @ WA FoAF W,
(ol ferdifam arafmer-az 5o 7 s

(a) Jaipur (&353)

(b) New Delhi (f¥® fufar)
(c) Lucknow (s14%8)
(d) Kolkata (F==sst)

16. As ‘Odissy’ is related to ‘Odisha’, in the
same way ‘Bihu’ is related to

efeP'a W @ ‘efemira ek, cowf
Re'7 3 74 wm

(a) Bihar (Rz2)

(b) Assam (=F79)

(c) Punjab (=iigi)

(d) Uttar Pradesh (S@zzitim)

17.  As ‘Ozone’ is related to ‘Oxygen’, in the
same way ‘Diamond’ is related to

ST -4 AR o WHEG'T T =i,
(SHWeIE ' A 7T E =i

(a) Carbon (149)

(b) Iron (c=712)

(¢) Sulphur (ifE=i7)
(d) Hydrogen (2Zrgite)



18. If ‘Grass’ is related to ‘Erosion’, in the
same way ‘Dam’ is related to

M T 43 A0 R -7 71 A e
GRS 497 FTH T4 Stz

(a) Water (&#)
(b) Freeze (fZamsr)
(c) Current (&re)
(d) Rain (3f®)

19. If ‘Second’ is related to ‘Time’ then
‘Acre’ is related to

CIET WM TG A TS T orgE
‘9T FEYE A

(a) Volume (@iFres)

(b) Unit («)

(c) Area ((Fawe)

(d) Weight (gm)

20. As ‘Mass’ is related to ‘Kilogram’, in the
same way ‘Work’ is related to

©X-9T A (@ REa e i,
(SAfTeIE PR3 705 791F Wiy

(a) Second (F@®)

(b) Newton (f4%5+) :
(c) Joule ()

(d) Pascal (=irf)

(5]

(Questions 21—30)

DIRECTION: In each of the questions 21 to 30,
some codes have been used to write words. Try to
find out the rule of coding in each case and answer
as per direction in the O.M.R. Answer-Sheet.

(erst 21—30)

[ﬁcﬁszlmmmaﬁﬁmwmwﬁq
FAPS [ T AR A (F0G AUFOIAER fww
TPTEN TR 68 I @R BE Teal® OMR.
Ceeites 8 38 o3 e comm ew frRre )

21. Ifinacode system PQR = 134, RQT =435,
TPS =510, then QSR =?

- WM @I kRS W PQR = 134,
RQT =435, TPS = 510 23, ©izts QSR =?
(a) 410
(b) 304
(c) 503
(d) 305

22. If in a code system 212 = 5, 312 =7
423 = 14, then what will be code of 415?

(P ACFS JIgF 212 = 5, 312
423 = 14 27, OIZ(H 415-97 A3 1@

(a) 19
(b) 20
(c) 21
(d) 22

Il
~

23. If in a code system ‘BAD’ is written
as ‘7’, then ‘MAT’ will written as

T (@I WS I ‘BAD' - 7 frw
@ T, O’ ‘MAT’ & Fe g @2l i3 2

(a) 24

(b) 28

(c) 34

(d) 36




24. If ‘COW’ is coded as ‘###’, ‘DOG’ is
coded as ‘@ ##’, ‘RAT’ is coded as ‘@ # @’
- then what would be the code of ‘GOAT’?

T ‘COW’-93 @S ‘# =2, ‘DOG 94
TS ‘@ ##’, ‘RAT -3 7@ ‘@ 2 @ =7, O @
‘GOAT’-93 FFS F FA?

(a) @@

(b) @ @ #

(c) 2@ @

d 22 @

25. Inacertain code ‘357" means ‘get me toy’,
‘843’ means ‘bring good toy’ and ‘746’ means
‘bring me water’. Which of the following
represents ‘good’ in that code?

(PG 9T FLHCS 357" -9 99 “get me toy’,
‘843'-97 w4 ‘bring good toy’ @I ‘746’-g7 H
‘bring me water’ | 9i5% (G ‘good’ < Afo® FA?

(a) 6

(b) 7

(© 8

d 9

26. If ‘FRIEND’ is coded as ‘HUMIJTK’, how
is ‘CANDLE’ written in the code?
3 ‘FRIEND’-93 %si@e ‘HUMITK, @
‘CANDLE’-93 7@ Il (9 ?
(a) DCQHTK
(b) EDRIRL
(c) ESJFME
(d)y EDQIJQM

[6]

27. If ‘MEAT’ is written as ‘TEAM’, then
‘BALE’ is written as

Tt ‘MEAT 93 @7dt =@ “TEAM’ e, o
‘BALE’ @14l T e

(a) EABL

(b) ELAB

(c) EBLA

(d) EALB

el el T TR

28. If ‘MARK’ is coded as ‘14-26-9-16’,
then how will you code ‘BLUE’?

I ‘MARK’-97 #@e 14——26—9—16’ =,
©@ ‘BLUE’-43 (@@ 9 2047

(a) 25-14-7-21

(b) 25-15-6-22

(c) 25-15-22-7

(d) 25-14-7-22

29. If CUP =40, then KITE =?
T CUP = 40 23, &3 KITE =?
(a) 20
(b) 10
(c) 30
(d) 45

30. If ‘EXAMINATION’ is coded as ‘8,
‘STUDENT is coded as ‘6, then ‘INTELLIGENT’
will be coded as —

I ‘EXAMINATION'-¢3 #@e ‘8,
‘STUDENT’-93 3@ ‘6’ wW, ©J
‘INTELLIGENT’-43 AF® 303 —

(a) 6
(b) 7
(c) 8
(d) 9



(Questions 31—40)

DIRECTION: Study the diagram which is given
below and give the answer of the question 31 to 40
on your O.M.R. Answer-Sheet.

(e 31—40)
[ 3 53 el eremea o w93t o Ber

i%#%axa31cwus4oeﬁﬁrzn«ﬁﬁasﬁ%aiﬂaﬂbCLLJJL

Texsitan 8 39 =39 |

31. Diagram:
(@)

How many squares are there in the above ;

diagram?
Totaw foafbre soak asteg wm?
(a) 28
(®) 29
(c) 30
@) 32

32. How many triangles are there in the
following figure?

e foafbrs vesf frge wim?

(a) 14
(b) 15
(c) 16
(d) 18

33. How many Parallelograms are there in the
following figure?

w7 Pafes voaf el wm?

(@ 5
(b) 6

-7
(d) 8

(Questions 34—37)

Diagram:
(o)

:  Stands for ‘Indian’

SIFe i 3=

I
> ¢ Stands for ‘Scientist’
- - el o
; :  Stands for ‘Politician’
ST vt ez
P
I
U
v %‘y’

r

P

34. Indians those are Politicians but not
scientists will be

mw@lw,iﬁﬁﬁ%ﬁﬁﬁmﬁEﬁwmﬁ
(a) x
(b) v
() r
(d U

(7]




35. Scientists which are Politicians but not
Indian.

AN ==
(@) y
(b) x+y
() w
(d) v

36. Those are Indian, Politician and also
Scientists will be

TR SIS, AGTSm 3 e, i 7
==

(@ w+z -

(b) x

{c) 2z

d v+x+y

37. Indians who are neither Politicians nor
Scientists will be

e g AEAen 7w at Reele 7w o
ESIEG

(a) U

(b) v

© z

(d) x

38. Which diagram shows the relationship
between Food, Vegetables and Carrot?

N2 @i Bafd W, 7= 93z sz S
HooE (R 2

@.

[8

39. Which diagram shows the relat10nsh1p4
between Real numbers, Rational numbers anda
Irrational numbers?

A @@= e e 7wl FTW ARG @R
SIETR AR T TR o a2 |

(@&
a8

40. Which diagram shows the relationship
between India, West Bengal and Forest?

SIS, ARSI GAR THEI T T ot
@ @ oa, ¢ ==



(Questions 41—45)

DIRECTION: Out of nine cells of a square, one
cell is left blank and in the rest of the cells,
numbers are written which follow the same rule.
Get the rule and find out the proper option for the
blank cell (?) by filling the right alternative on the
O.M.R. Answer-Sheet.

(erst 41—45)

(e 2 Riwa asfrrasia arees 9F @ aam AR
g @I TR SR (2) 9k A Refe g
(T A @7 =z | R ferafs e @t Fit v (9)
@ Wit =@ o @ @ 93 O.M.R. TEeim
Ao Tl e (]

41.
LA Y O
131 18| 14
1L o S D
(a) 3
(b) 4
(c) 8
(d) 14
42,
3 4 | 49
7 3 {100
4 ? | 64
(a) 5
(b) 7
(c) -1
(d) 4

43.

9 8
7 4
10 6

(a) 3

(b) 11

) 9

(d) 2
3 5
8 2
12 13

(a) 10

(b) 6

(c) 9

(d 7
10 5
12 2
45 5

(a) 3

(b) 19 .

€y 15

d 6




(Questions 46—55)

DIRECTION: In each of the following questions,
a number of series is given with one of the terms
missing. Choose the correct alternative that will

continue the same pattern and answer on the
O.M.R. Answer-Sheet by filling the circle.

(e 46—55) ;
(e s 46 (AT 55 *Rfw offel e Ry g cifig
TG GFH AR AT (ST ZAE | A =fire Shfe
(?)fﬁmmﬂ%@mﬁamk@wqmﬁﬁ%w
39 3 (o Te e s )
46. 2,6, 12,20, 30, 42, 56, ?
(a) 63
(b) 68
(©) 70
d 72

47. 17,26,63, 124, 215, 342,?
(a) 481
(b) 391
() 511
(d) 421

& 3765935121157
(a) 13
(b) 18
c) .3
(d) -1

49. 8,3,11,14,25,7
(a) 50
(b) 29
(c) 39
(d) 11

[10]

50.

S1.

52.

5 3

54.

55.

31, 13, 45, 54, 36, ?
(a) 61
(b) 58
(c) 54
(d) 63

4,13, 22, 31, 40, ?
(a) 47
(b) 48
(c) 49
(d) 50

5, 12, 20, 29, 39, ?
(a) 48
(b) 52
(c) 49
(d) 50

2,5,14,41,122. 7
(a) 256
(b) 354
(c) 345
(d) 365

2,3, 10, 12, 18, 21, 26, 30, ?
(a) 34
(b) 35
©) 36
(d) 38

3, 10:32,99. 7
(a) 301
(b) 297
(c) 303

(d) 299




(Questions 56—60)

DIRECTION: In each of the following questions,
arrange the given five words in a meaningful
sequence and then choose the most appropriate
sequence from the alternatives. Mark the right
alternative on the O.M.R. Answer-Sheet.

(e 56—60)

(ot ¢ Tivar oSl een il w2 = aqm) @@
ol 3 Syl T W @, o @E Fa
OMR. Tetan 8 3@ =39 T2 (omiw Teq
it =@t ]

56. 1. Crop (%), 2. Root (3F), 3. Stem (&f%),
4. Seed (I=), 5. Flower (1)
(a) 2,4,5,1,3
(b) 2,3,4,1,4
() 2:3. 4, 1.5
(d).4,2,3,5,1
57. 1. Mother (1), 2. Child (Fw), 3. Milk (7¥),
4. Cry (1a1), 5. Smile (2f)
(a):3,2,1,5:4
b) 2.4.1,.3.5
)y 1.5:2.4:.3
d) 2,4,3,1,5
58. 1. Vegetable (*1@7f%), 2. Market (I&13),

3. Cutting (=/51), 4. Cooking (3! 341),
5. Food (4%4y)

B2:1,3, 4.5
(b) 1,2,3,4,5
(e) 3,1,2.4.5
@-:3,2,1,3,4
59. 1. Family (f#<1%), 2. Community (7=mH),

3. Member (%®)), 4. Locality (= &),
5. Country (=)

31,254
() 3,1,2,4,5
(c):3.1,4,2.5
(d 3,1,4,5,2

60. 1. Destination(*%7%1), 2. Booking(f/R% i),
3. Boarding and fooding (¥ <ewm I<7)),
4. Travel (% 1), 5. Planning (#if5<s1)
(a 3,4,5,1,2
) 52,341
(¢) 4.5, .25
d 1,2,3,4,5

(Questions 61—70)

DIRECTION: In each of the questions 61 to 70,
a figure or a set of figure is given, each of which
bears certain numbers following a certain
pattern. You have to decipher this pattern and
accordingly find the missing number in the

figure and denoting your selected answer on the
O.M.R. Answer-Sheet.

(erd 61—70)
(ot 2 61-70 =17 2fef am «= 2t wowsz e 7aE |
ofefs form = Fffe g seal @ wm) @@
etefera «oft e Reriers saice, comig sror = @3
Rt 3w e B2 (2) (o @ WAt 2@ @
O.M.R. Tezeiiaa fifd® & »f3t aa Taw fvife = |)
61.

EaEl

8 , 10

t] 3

o 6’1
6’4 v
(a) 13
(b) 12
(¢) 11

(d) 10

62.

5 6

126 7

(a) 171
(b) 217
(c) 117
(d) 235

[11]




67.

AN A st

. 4 9
b s (a) 637
cs ‘ (b) 537
2 (c) 376
(d) 367
64, - |
S i’ '
B o8
(a) 18. Go o o
D
(d 21 ((:)) ;0
d) 12

DRD - g9s

(a) 17
S m

) 13
(a) 4
@) 15 (b) 3
(c) 9
(d 10

70.

B
aofanlios

(a) 69
(b) 56
(c) 72
(d) 63

[12]




(Questions 71—380)
DIRECTION: In each of the following questions

select a figure from the four alternatives which
placed in the blank space of figure would complete
the pattern. Indicate your answer by filling the
circle of the letter denoting your selected answer
on the O.M.R. Answer-Sheet.

(et 71—80)

[ ¢ Sitsa 71 @ 80 A el wwrgw s
o fou caee @fb fw iitet foaafar srsje 27 ot e
03 A e O.M.R. Tezomaw RfWB g8 =79 =

coIE Tea Mo et ()

g %

(a)
(c)

72.

(b)

()

(a)

(c)

(b)

(d)

[13]

73.

(a)

(c)

74.

i) (7] (EH

(b)

(d

/]
N

(a)

(c)

(b)

(d)

75.

(a)

(©)

(b)

(d

i




N2 g

xxz. W@ﬂﬂ

ey

Iz NN [
Iy s e |
i!!lw A NI p2 s Fal=

Py



(Questions 81—90)

DIRECTION: In each of the questions 81 to 90
three out of four figures are alike in same respect
and one is different from others. Find out the odd
figure in each question and indicate your answer
by filling the circle of the letter denoting your
selected answer on the O.M.R. Answer-sheet.

(% 81—90)

(oot ¢ 81 (T3 90 5% emiwfera ereraia el 51af
BEGae g fo Tl (@It 7 (S Gaew G G
welE (A wEm | Afeh st @3 e e @@
o Ao Teal s s 93z O.M.R. Teasitag
e 3@ o739 3 (o Tea foitie 3t )

l81. @

/N

(a)

(b)

(c)

(d)

82. x} T \Z %}
L
(a) (b) (c) (d)

0
SR OTE T g

N
B e

[15]

85.

86.

87.

89.

90.

(a) (b) (c) (d)
(a) (b) (c) (d)

88.

ANAN /o
(a) (b) (c) (d)
—

o T e T
h <

(a) (b) (c) (d)

_
(a) (b) (© (d)
(a) (b) (c) (d)
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Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Before youproceed tomark inthe OMR Answer-
Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

@ @ © O

(Here ‘b’ is the correct answer.)

Example :

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall. ;

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in
OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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Mathematics
1. Which one of the following statements is
wrong?
(a) Perfect square number never ends
with 2, 3, 7, 8.
(b) Perfect square number is never
negative.
(c) The number of zeros at the end of a
perfect square number is always even.
(d) The square of an integer is even.
4-x 4-2y 4-4z
& Bt yy+ > =, then
L
bl
(a) 3
(b) O
(c) 4
(d) 12
3. A triangle whose sides are 5 cm, 12 cm
and 13 cm is:
(a) right angled
(b) obtuse angled
(c) acute angled
(d) no triangle is formed
4. The number of independent measurements

required to construct a triangle is

5

(@) 2
() 3
© 5
@ 4

If an angle is its own complementary angle

then its measure is

(a) 90°
(b) 30°
(c) 45°
(d) 60°

[31]

2.

1
—+
X

3
y

fere

T TR T @R go?

(a) opfasPeum wwgE 2, 3, 7, 8 A
ol

(b) A sefIfARAN YN (—ve) TR |

() I fRFRYR T 7 e €%
wpafer ARt T 3 T

(d) I opefrata 3ol w7t gon |

4-x 4-2y 4-4z
x_+ 2 s =5 3@

+l=?
z

(a) 3
®) 0
(© 4
(d 12

5 cm, 12 cm @32 13 cm IR g 2= ¢
(a) st

(b) TR

() e

(d) It fage 1o 31 AR |

4. R e fge e e b o

fAsers oy fite Ta?

(a) 2
(®) 3
() 5
@ 4

@ et e e o7 @t o W @
(a) 90°
(b) -30°
(c) 45°
(d) 60°




Qnann Fae -

6. The area of a square is X sq. unit and its
perimeter is also x unit, then value of x is

(a) 4
(b) 8
(c) 16
(d) 64

7. 1f AABC, the angles are denoted by the
capital letters A, B, C and the sides BC, CA, AB by

small letters a, b, ¢ respectively. If a>c>b, then
which one of the following is true?

(@ A4>B>C
(b) 4>C>B
() B>C>4
(d B>A4A>C

8. &+J;5+\HOS+JTS4+J225 =

(a) 1
(b) 16
" (g) 36
(d) 4

9. If x be a number between 0 and 1, which
one of the following is true?
o ©>x
b)) x< -1-
x
(c) -} < J;

@ x>x

10. 1% of 0-1=7

(a) 1
(b) 0:01
(c) 01
(d) 0-001

% aasﬁaefwr;ﬂamxmfmmwﬁﬁm
¥ GFF TE X093 A AJ

(a) 4
(b) 8
(c) 16
(d) 64

7. AABC-93 @efE e A A, B, C 7
@22 BC, CA, AB 3R IUEH @0 2o a, b, ¢

Tl e w4 | 9 a>c>b T G @
oo o e

(@ A4>B>C
(b) A>C>B
©) B>C>4
d) B>4A>C

8. \/10+\£5+ 108++/154++/225 =

(a) 1
(b) 16
(c) 36
() 4

9, 0@ lﬂaﬁm@amﬁmﬂnxmﬁﬁm
SR WU @ Ao
(@ £>x*
1
(b) x<;
© <V

@ x>x

10. 0192 1% =7

(2 1
(b) 001
(¢) 01
(d) 0-001

[4]




i 55

then for what values

1
T

of i, the value of y cannot be determined?

12.

13.

14.

(a) —41 _5
() 4,5

) —4,5

(d) 20,-20

{2-3(2 +3)“‘}_1 =1
(a)
(b)
(©)

(d)

S LR BRI T

The reciprocal of (—5)_2 is

(@ 5
(b) 25

© 3

@ >

If 2P—%=4, then the value of

-2
8p>_gp—3 °

15.

(@ 0
() 1
(c) -1

@ 5

If in a Parallelogram ABCD, ZA =75°

then the value of ZB+ ZCis

(a) 75°
(b) 120°
(c) 180°
(d) 105°

11.

1
y_xz_x_’zo Eﬁx—ﬁﬁ'@‘?{@iw

o) y-43 T AT IR A2

12.

13.

14.

15.

RICE-Ol

[5]

(a) <4,-5

() 4,5
(C) _4! 5

(d) 20,-20

{2-3(2+ 3).“}_l =
)
(b)

(c)

N 9 o

(d)

(=5) = S T
(@ 5
(b) 25

(c) %
@ o

3 3-2p2
.. e SO i b B
ar 3Pl _gp-3

P -4 I 25

(a 0
(b) 1
() -1

@ 5

ABCD A8 LA=75°TF LB+ £LC-€7

(a) 75°
(b) 120°
(c) 180°
(d) 105°




16.

If a > b and a, b are both odd numbers, |

then which of the following is even?

17.

18.

19.

(a) a+b+1
(b) ab-2
(c) ab

(d a-b

sinsl 2 4.5
9999 3+9999 9+99999.

(a) 39998
(b) 29999
(c) 29998
(d) 29997

If 71 =64, 4% 9 =169, then (1¥2)*3 =
(a) 256

(b) 121

(c) 36

(d) 144

If x*+3x*+3x=7, then the value of

Y =3x*4+3x 18

20.

(a) 1
(b) 8
(c) -1
(d 0

oot o=

B 250 N G G TR
20 42756 72 90

S

17.

18.

19.

Ta

20.

[61]

16.
I g2

4> b & a, b TeRR WIRY TA GA

(a) a+b+1
(b) ab-2
(c) ab

(d a-b

1 - 4_o
9999 3 +9999 9 +9999 .

(a) 39998
(b) 29999
(c) 29998
(d) 29997

71 =64,4%9 =169 (1¥2)*3 =
(a) 256
(b) 121
(c) 36
(d) 144

L4322 +3x=7 TA ¥ —3x* +3x-47 A=

(@ 1

()

@ 7



Physical Science

21. The instrument used to measure ‘weight
of a body’ is
(a) Common balance
(b) Stopwatch
(c) Spring balance
(d) Metre scale

22. The SI unit of force is
(a) Joule
(b) Dyne
(c) Erg
(d) Newton

23. Compound of which element is a pollutant
for groundwater?

(a) Na

(b) Cu
© Cl,
(d) As

24. How many electrons are present in the ‘L’
shell of Potassium(K). [Atomic number of

potassium = 19].
a2
(b) 8

(c) 12

(@ 32

25. Which element is formed when lead
nitrate is strongly heated?
(a) H,
(b) O,
(c) NO,
(d) PbO

21.

22.

23.

cSrefqeaiw

I TE® TR IR T WAl T 2
(a) eizel g

(b) 35 @ul6

(c) &R el

(d) for cw

EIGERN QU TR |
(a) &=

(b) oA

(c) s

(d) Eos

@GR 7Rl e (@9t go1eR o 1o ?
(a) Na
(b) Cu
(¢ Cl,
(d) As

24, BN (K) #7997 ‘L’ I0F FI0 26

iz ? (AR SR Aem=19).

(@ 2
(b) 8
(© 12

(d) 32

25, (G AAGH ST TeY I @I Gna’

e I ?

(a) H,
(®) O,
(c) NO,
(d) PbO
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26. Which of the following is a strong
electrolyte?

(a) Sugar solution
(b) Molten glucose
(c) Ethanol

(d) Molten NaCl

27. Velocity of electromagnetic wave in
vacuum is

(a) 3x10"°m/s
(b) 3x10°m/s
(¢) 3x10°m/s
(d) 3x10" m/s

28. At what temperature the Celcius and
Fahrenheit scale of a thermometer indicate the
same reading?

(a) 40°C
(b) —40°C
(c) 100°C
(d 0°C

29. Formula of Sodium Aluminate is
(a) Na,AlO,
(b) NaAlO,
(c) NaAlO,
(d) NaAlO,

30. The magnetic length of a magnet is ;- Its
geometric length is /,. Then

(@ L=
®) L>1
) L,>1
d L=2hL

26. I 17 ©foe Ko
(a) Pofim 7=
(b) sffere Jrere
(c) 2
(d) =fers NaCl

27. e N S FERE SAHF (39 T
(a) 3x10"m/s
(b) 3x10°m/s
() 3x10°m/s
(d) 3x10"'m/s

28. @i wewEm  Acfitim @ftee @3
FIEEIED e AN SA1S (T 2

(a) 40°C
(b) —40°C
(c) 100°C
(d) 0°C

29, Grfoa SERTG A e
(a) Na,AlO,
(b) NaAlLO,
(c) NaAlO,
(d) NaAlO,

30, I PEGER (TS ond [ o wifafes o
T,

(@ L=h

®) L>1

) L>1h

@ 1,=2L




31. Which of the following is an organic
compound?

(a) CaC,
(b) NaHCO;
(c) CHCl,
(d CO,

32. A ray of light is incident perpendicularly
on a plane mirror, what will be the angle of
deviation?

(a) 90°
(b) 0°

(c) 45°
(d) 180°

33. The unit of resistance is
(a) Volt
(b) Ohm
(c) Ampere
(d) Newton

34. Boiling point of water in Kelvin scale
(a) 100K
(b) 373K
(¢) 273K
(d) 200K

35. The chemical formula of a compound is

Mg;(PO,), then what is the valency of PO,?
(a) 2
(b) 1
(e} 3

d 4 ‘/

[9]

31. e @eelE g @Eh e @6

(a) CaC,
(b) NaHCO;,
(c) CHClL,
(d) CO,

32. «2f5 e T vt Bold RSN
oo 20, Pe (@I T+ F© A2

(@) 90°
) 0°

(c) 45°
(d) 180°

33. @IME 93T T

(a) (=r
(b) ez
(c) wuif~fam
(d) feoa

34. (IO CHCE GAD FoAIE

(a) 100K
(b) 373K
{c) 213 K
(d) 200K

35. = @ aemaEs wEe Mgy (PO,), T

PO,~93 @IETe! ¥ ?
(a) 2
(b) 1
c) 3
(@ 4

Ce ——




36. An organic greenhouse gas is 36. 93 o Rwrest sy 2=

(a) CH, (a) CH,
(b) CO, (b) CO,
(C) N02 (C) N02
(d) CO : (d) CO
37. The ratio of masses of two bodies having 37. @R wWerE 4% I ©@I wWAS 11
same volume is 1:5, the ratio of density of their Tz ToimiAT TTT TS 23
material is (a) 1:10
(a) 1:10 (b) 1:2
() 1:2 ‘ (© 2:1 J
Qe @ 15
(d 1.5
38. The charge carrying particles responsible 38. 4o ofFARY owow oVe TR T l
for electric current through a metallic conductor wohefer ofte Wi a7 Tz
is (a) i
(a) photon : (b) cands
(b) proton (c) T=RGH
(c) electron : (d) fSEw
(d) neutron
[10]
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42.

|
J
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39.

41.

430

Life Science

Which of the following diseases don’t have
any vaccine?

(a) Typhoid

(b) Tetanus

(c) AIDS

(d) Polio

Which of the following in not a disease?
(a) Cholera

(b) Plague

(c) SARS

(d) HIV

Which of the following plant parts don’t
have chlorophyli?

(a) Green leaves

(b) Petals of yellow coloured flower
(c¢) Cucumber stem

(d) Calyx of flower

Nodules are formed in roots of leguminous
plant by

(a) Parasite
(b) Symbiont
(c) Saprophyte
(d) Autotrophs

First discovered antibiotic is
(a) Streptomycin

(b) Penicillin

(¢) Amphicillin

(d) Amoxycillin

The cause of Global warming is
(a) Deforestation

(b) Forest fire

(c) Misuse of water

(d) Volcanic eruption

39.

40.

41.

42,

43.

44.

Giaw e

B3 @efr @Rl @i B @3
(a) TRFEE

(b) G

(c) @&

(d) cnfere

53 @G st 7w e
(a) Fer

(b) catst

(c) wnf

(d) @ =R fe

v Cfew wientefer @wmibe @i a e
(a) 3= el

(b) T A o Al

(c) T M e

(d) ¥ow e

reendia Sfeor et o 7B I ok 7@
(a) A&

(b) &

(c) To&

(d) FTeré

24w wifigs wnfSaraie
(a) CBAGMIERw

(b) Bt

(c) =uifFshiEm

(d) wnfH=

o TaeTe-93 Fi9d o5
(a) I FE @l
(b) R
(R:GERGIT

(d) s wgyesire




45‘

47.

49 -

50.

Crnaona o -

The presence of glucose in urine shows that
the person has :

(a) Diabetes insipidus

(b) Diabetes mellitus

(c) Tumours in kidney

(d) Infected kidney

‘Which plant’s root can absorbs oxygen from
air?

(a) Mango

(b) Sundari

(c) Coconut

(d) Carrot

Which is weedicide?
(a) DDT

(b) Malathion

(c) 2,4D

(d) Aldrin

The Botanical garden located at Shibpur,
Howrah is a type of

(a) Protected Area

~(b) Ex-situ conservation site

(c) Sanctuary
(d) National Park

The fruit of which plant is used as spice?
(a) Cinnamon

(b) Turmeric

(c) Garlic

(d) Black pepper

The component of food which 18 mostly
present in different pulses is

(a) Carbohydrate

(b) Protein

(c) Vitamin

(d) Mineral

[121]

45.

46.

47.

48.

49.

50.
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(b) seiLE
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55,

51.

52,

530

54.

By which of the following symptom you
can identify that a person get affected by
Arsenic pollution?

(a) Teeth and bones break easily

(b) Black patches seen on skin

(c) Paralysis of facial muscle

(d) Back becomes bent like a bow

Which one is called rhizome?
(a) Zinger

(b) Potato

(c) Onion

(d) Amorphophallus

Which cell organelle is called suicidal bag?
(a) Ribosome

(b) Centrosome

(c) Mesosome

(d) Lysosome

The term bacteria was first coined by
(a) Louis Pasteur

(b)' Leeuwenhoek

(c) Ehrenberg

(d) Robert Koch

An example of exotic carp is
(a) Grass Carp

(b) Bata

(c) Rohu

(d) Punti

[ 13]

51.

52.

33.

54.
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& e e e @i wies 2w

(a) WI® 8 e &R (S18 T
(b) BT T @It #ite
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(a) mat

(b) =

(c) fare

(d) e=

(P PR SieE grare! Afs 9 e
(a) RSN '
(b) i

(c) TSN

(d) =RECE
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(c) arzwarsf

(d) 70 ==
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56.

57.

58.

59.

History

Harshavardhana was the king of
(a) Assam
(b) Gouda
(c) Kanauj
(d) Malava

The founder of the Pala dynasty was

- (a) Dharmapala

(b) Gopala
(c) Devapala
(d) Rampala

‘Harshacharita’ was written by
(a) Harshavardhana

(b) Joydev

(c) Banabhatta

(d) Sandhyakar Nandi

The founder of the Delhi Sultanate was

(a) Md. Ghori

(b) Qutubuddin Aibak
(c) Ttutmish

(d) Mahmud of Ghazni

First Battle of Panipat was fought in the year 60.

(a) 1520 AD
(b) 1526 AD
(c) 1527 AD
(d) 1556 AD

56.

57.

58.

59.

o4 W

(a) SHAICE Are
(b) CMres e
(c) FATCES A
R GESEEL

sie g 2Afevrel fogew
(a) wfoite
(b) cotsiA
(c) =&
(d) =i

(a) ==E
(b) TR
(c) AISE
(d) T T

fafer st =i vl

(a) e CRIS

(b) TEACHA W2
(c) Torgef

(d) oreI T TR

SAfees 2% 5 2RRe—

(a) 1520 BB
(b) 1526 R5rcs
() 1527 i
(d) 1556 61

S sk



61.

62.

63.

‘Humayunnama’ was written by
(a) Babur

(b) Humayun

(c) Gulbadan Begum

(d) Badauni

Din-i-Ilahi was propounded by
(a) Akbar

(b) Jahangir

(c) Shahjahan

(d) Aurangzeb

The ‘Dual Government’ in Bengal was

introduced by

64.

in

65.

(a) Warren Hastings
(b) Robert Clive
(¢) Lord Wellesley
(d) Lord Cornwallis

The ‘Permanent Settlement’ was introduced

(a) 1773 AD
(b) 1793 AD
(c) 1813 AD
(d) 1844 AD

The Indian Railway System was first

introduced in

66.

(a) 1833 AD
(b) 1843 AD
(c) 1853 AD
(d) 1855 AD

Titumir was the leader of
(a) Wahabi Movement
(b) Farazi Movement
(c) Indigo Revolt

(d) Munda Rebellion

[15]

61.

62.

63.

65.

GG T FET—
(a) 3T

(b) =R

(c) @eve @51

(d) e

T-23A 26 FEa—
(a) WiF=F

(b) w2

(c) =Eer=

(d) 8z=Ea

FET A * P IIZ T T FE
(a) STEw &5

(b) WGFRS

(c) =16 el

() =16 feaifer
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67.

69.

70.

71‘

72 .

The ‘Arya Samaj’ was founded by
(a) Dayananda Saraswati

(b) Jyotiba Phule

(c) Mahadev Govind Ranade

(d) Swami Vivekananda

The first Viceroy of India was
(a) Lord Canning ;
(b) Lord Bentinck

(c) Warren Hastings

(d) Lord Dalhousie

The Partition of Bengal was annulled in
(a) 1905 AD
(b) 1907 AD
(c) 1911 AD
(d) 1919 AD

Corridor Warfare took place in
(a) 1919 AD :
(b) 1930 AD

(c) 1935 AD

(d) 1942 AD

The first Prime Minister of India was
(a) Jawaharlal Nehru

(b) Rajendra Prasad

(c) Lord Mountbatten

(d) Lal Bahadur Shastri

The Lok Sabha is presided over by

_ (a) The President

(b) The Prime Minister
(c) The Vice President
(d) The Speaker

[16]
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70.
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73.

was

74.

Geography
The Proponent of ‘Continental Drift theory’
(a) Wegner
(b) Wilson

(¢) Morgan
(d) Pichon .

Greenwich (0° Long.) is situated in the west

of India (82°30'E). So the time of Greenwich is
always

75.

the

76.

T1.

78.

(a) 5 hrs. 30m. ahead in time than India.
(b) 4 hrs. 30m. ahead in time than India.
(c) 5 hrs. 30m. back in time than India.
(d) 6 hrs. 30m. back in time than India.

Change of climate is shown if we walk along

(a) Equator

(b) Tropic of Cancer
(c) Tropic of Capricorn
(d) Prime Meridian

‘Roof of the Earth’ is known as
(a) Tibetan Plateau

(b) Pamir Plateau

(c) Ladakh Plateau

(d) Deccan Plateau

The contact zone of SIAL and SIMA is
(a) Gutinberg Discontinuity

(b) Ripetti Discontinuity
(c) Conrad Discontinuity
(d) Lehman Discontinuity

‘FOSSIL’ is found in
(a) Igneous rock

(b) Sedimentary rock
(c) Metamorphic rock
(d) All of the above

713.

74..
- i 26T GRS AT SIS (A0 FAIE

i

76.

77.

78.

[ 17.]
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79.

80.

Primary waves may be transmitted through

(a) gases

(b) solids

(c) liquides

(d) All of the above

In southern hemisphere westerly wind

blows from the

83. The boat used by Eskimo for hunting is

81.

82.

(a) north-east to the south-west
(b) north-west to the south-east
(c) south-west to the north-east
(d) south-west to the north-west

‘I am famous as Doldrums’ — Who am I?
(a) Equatorial low pressure belt

(b) Subtropical high pressure belt

(c) Temperate low pressure belt

(d) Polar high pressure belt

‘Black forest’ in Germany is a
(a) Vast Forest Land

(b) Fold Mountain Ranges
(c) RiftValleys

(d) Block Mountain

known as

84. Which of the following is not included

(a) Kayak
(b) Tupic
(c) Igloo
(d) Harpoon

within the ‘SAARC’?

(a) SriLanka
(b) Bhutan
(¢) Myanmar
(d) Nepal

79. =iefie vz 23RS e St @ W ¢
(a) TR
(b) 3=
(c) o5&
(d) Teiza w1 bR

80. Wi cotfeicd #ifewl IRCE 2fRS 20e o
(a) TEa-A4 (Ar wfwe-2ifow
(b) Twa-sifésx (A wfwet-od
(c) whst-siffoa (A Tea-ord
(d) wiEsa-sifesa (AF TET- A0

81. “wifil ceteTg Wi & — Sif (2
(a) et fssid <o
(b) THAGIGE TebbIo @
(c) CFgE AT fepisl o7
(d) crrE Tobie @y

82. aififd ‘Wie TS’ 2 @I
(a) @I Tl wee
(b) = Aferid
(c) =% Torwst
(d) B *e

83. fitam T Ig® 263 AR (1t &
#2532 :
(a) FrHI |
(b) TEiH
(c) 2o
(d) =g

84, s @D ‘SAARC’ (1) a7 UEE
(a) Aers |
(b) ¥ '
(c) s ‘
(d) @i

[ 18]



85.

86.

One South flowing river in Asia is
(a) Amur

(b) Ob

(c) Irrawaddy

(d) Hwang-Ho

Suej Canal is an artificial water way which

connects the

87.
river:

88.

89.

90.

(a) Atlantic ocean and Pacific ocean
(b) Red sea and Mediterranean sea
(¢) Indian ocean and Red sea

(d) Indian ocean and Pacific ocean

The famous Grand Canyon is shown on the

(a) Mackanji
(b) Colombia
(c) Colorado
(d) Mississippi

Longest fold mountain of the world is
(a) The Rocky

(b) The Andes

(c) The Alps

(d) The Himalayan

‘Granchaco’ is a region of
(a) Mixed vegetation

(b) Tropical grassland

(c) Coniferous forest

(d) Desert vegetation

‘New Guinea’ a famous island is under the

group of

(a) Australesia
(b) Melanesia
(c) Micronesia

(d) Polynesia
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